



# Oscillatory criteria for Third-Order difference equation with impulses

Qiaoluan Li<sup>a,\*</sup>, Zhenguo Zhang<sup>a,b</sup>, Fang Guo<sup>c</sup>, Zhiyong Liu<sup>d</sup>, Haiyan Liang<sup>a</sup>

<sup>a</sup> College of Math. & Info. Sci., Hebei Normal University, Shijiazhuang, 050016, China

<sup>b</sup> Information College, Zhejiang Ocean University, Zhoushan, Zhejiang, 316000, China

<sup>c</sup> Department of Math. & Comp., Baoding Teachers College, Baoding, 071000, China

<sup>d</sup> Vocational Finan & Accoun School of Shijiazhuang, Shijiazhuang, 050011, China

## ARTICLE INFO

### Article history:

Received 16 November 2006

Received in revised form 21 April 2008

### MSC:

39A11

39A10

### Keywords:

Difference equation

Impulses

Oscillation

## ABSTRACT

In this paper, we investigate the oscillation of Third-order difference equation with impulses. Some sufficient conditions for the oscillatory behavior of the solutions of Third-order impulsive difference equations are obtained.

© 2008 Elsevier B.V. All rights reserved.

## 1. Introduction

Consider the impulsive difference equation

$$\begin{cases} \Delta^3 x(n) + p(n)x(n - \tau) = 0, & n \neq n_k, k = 1, 2, 3 \dots \\ x(n_k) = a_k x(n_k - 1), & k = 1, 2, 3 \dots \\ \Delta x(n_k) = b_k \Delta x(n_k - 1), & k = 1, 2, 3 \dots \\ \Delta^2 x(n_k) = c_k \Delta^2 x(n_k - 1), & k = 1, 2, 3 \dots \end{cases} \quad (1)$$

where  $a_k > 0$ ,  $b_k > 0$ ,  $c_k > 0$ ,  $p(n) \geq 0$ ,  $p(n) \not\equiv 0$ ,  $0 < n_0 < n_1 < n_2 < \dots < n_k < \dots$  and  $\lim_{k \rightarrow \infty} n_k = \infty$ ,  $\tau \in \mathbb{N}$ ,  $\Delta x(n) = x(n + 1) - x(n)$ .

It is well known that equations with impulses have been considered by many authors. The theory of impulsive differential/difference equations is emerging as an important area of investigation, since it is much richer than the corresponding theory of differential/difference equations without impulse effects. Moreover, such equations may exhibit several real-world phenomena, such as rhythmical beating, merging of solutions, and noncontinuity of solutions.

In recent years, there has been increasing interest in the oscillation/nonoscillation of impulsive differential/difference equations, and numerous papers have been published on this class of equations and good results were obtained (see [1–8, 10–15] etc. and the references therein). But there are fewer papers on impulsive difference equations [5–7].

For example, in [5], Mingshu Peng researched the equation

$$\begin{aligned} \Delta(r_{n-1} |\Delta(x_{n-1} - x_{n-\tau-1})|^{\alpha-1} \Delta(x_{n-1} - x_{n-\tau-1})) + f(n, x_n, x_{n-1}) &= 0, \\ r_{n_k} |\Delta(x_{n_k} - x_{n_k-\tau})|^{\alpha-1} \Delta(x_{n_k} - x_{n_k-\tau}) = M_k(r_{n_k-1} |\Delta(x_{n_k-1} - x_{n_k-\tau-1})|^{\alpha-1} \Delta(x_{n_k-1} - x_{n_k-\tau-1})). \end{aligned}$$

He obtained sufficient conditions for oscillation of all solutions of the equation.

\* Corresponding author.

E-mail address: [qll71125@163.com](mailto:qll71125@163.com) (Q. Li).

In [3], Wu Xiu-Li et al. discussed the equation

$$\begin{aligned} [r(t)x'(t)]' + p(t)x'(t) + Q(t, x(t)) &= 0, \quad t \geq t_0, t \neq t_k, k = 1, 2, \dots, \\ x(t_k^+) &= g_k(x(t_k)), \quad x'(t_k^+) = h_k(x'(t_k)), \\ x(t_0^+) &= x_0, \quad x'(t_0^+) = x'_0. \end{aligned}$$

They also investigated the oscillation of the above equation.

In [10], Wan and Mao paid attention to the following system

$$\begin{cases} x''(t) + p(t)x(t) = 0, & t \geq t_0, t \neq t_k, k = 1, 2, 3 \dots \\ x(t_k^+) = a_k x(t_k), & x'(t_k^+) = b_k x'(t_k), \quad x''(t_k^+) = c_k x''(t_k), \\ x(t_0^+) = x_0, & x'(t_0^+) = x'_0, \quad x''(t_0^+) = x''_0. \end{cases}$$

The sufficient conditions are obtained for all solutions either oscillating or asymptotically tending to zero.

In this paper, we study Eq. (1) and we get some sufficient conditions for the oscillation of solutions of Eq. (1).

**Definition 1.** By a solution of (1) we mean a real-valued sequence  $\{x_n\}$  defined on  $\{n_0 - \tau, n_0 - \tau + 1, n_0 - \tau + 2, \dots\}$  which satisfies (1) for  $n \geq n_0$ .

**Definition 2.** A solution of Eq. (1) is said to be nonoscillatory if the solution is eventually positive or eventually negative; otherwise, the solution is said to be oscillatory.

This paper is organized as follows. In Section 2, we shall offer some lemmas and theorems. To illustrate our results, some examples are included in Section 3.

## 2. Main results

In order to prove our theorems, we need the following lemmas.

**Lemma 1.** Assume that  $x(n)$  is a solution of (1), and the following conditions are satisfied:

- H1:  $(n_1 - n_0) + b_1(n_2 - n_1) + b_1b_2(n_3 - n_2) + \dots + b_1b_2b_3 \dots b_m(n_{m+1} - n_m) + \dots = \infty$ ,
- H2:  $(n_1 - n_0) + c_1(n_2 - n_1) + c_1c_2(n_3 - n_2) + \dots + c_1c_2c_3 \dots c_m(n_{m+1} - n_m) + \dots = \infty$ , for some  $i \in \{1, 2\}$ , there exists  $N \geq n_0$  such that  $\Delta^{i+1}x(n) \geq 0$  ( $\leq 0$ ),  $\Delta^i x(n) > 0$  ( $< 0$ ) for  $n \geq N$ . Then  $\Delta^{i-1}x(n) > 0$  ( $< 0$ ) holds for sufficiently large  $n$ .

**Proof.** We only prove the conclusion under the assumption that  $\Delta^{i+1}x(n) \geq 0$ ,  $\Delta^i x(n) > 0$ . Without loss of the generality, suppose  $N = n_0$ . From  $\Delta^{i+1}x(n) \geq 0$ , we know that  $\Delta^i x(n)$  is monotonically nondecreasing in  $[n_k, n_{k+1}]$ ,  $k = 0, 1, 2, \dots$ . Hence

$$\Delta^i x(n) \geq \Delta^i x(n_k), \quad n \in [n_k, n_{k+1}].$$

Summing the above inequality from  $n_k$  to  $n_{k+1} - 1$ , we have

$$\Delta^{i-1}x(n_{k+1}) \geq \Delta^{i-1}x(n_k) + \Delta^i x(n_k)(n_{k+1} - n_k). \tag{2}$$

So

$$\Delta^{i-1}x(n_2) \geq \Delta^{i-1}x(n_1) + \Delta^i x(n_1)(n_2 - n_1),$$

thus

$$\begin{aligned} \Delta^{i-1}x(n_3) &\geq \Delta^{i-1}x(n_2) + \Delta^i x(n_2)(n_3 - n_2) \\ &\geq \Delta^{i-1}x(n_1) + \Delta^i x(n_1)(n_2 - n_1) + d_2 \Delta^i x(n_2 - 1)(n_3 - n_2) \\ &\geq \Delta^{i-1}x(n_1) + \Delta^i x(n_1)(n_2 - n_1) + d_2 \Delta^i x(n_1)(n_3 - n_2) \end{aligned}$$

where

$$d_k = \begin{cases} c_k, & i = 2, \\ b_k, & i = 1. \end{cases}$$

By induction, we get

$$\Delta^{i-1}x(n_k) \geq \Delta^{i-1}x(n_1) + \Delta^i x(n_1)[(n_2 - n_1) + d_2(n_3 - n_2) + \dots + d_2d_3 \dots d_{k-1}(n_k - n_{k-1})].$$

From (H1) or (H2), we know that there exists  $l$  such that  $\Delta^{i-1}x(n_k) > 0$  for  $k \geq l$ . Since  $\Delta^i x(n) > 0$ , we get

$$\Delta^{i-1}x(n) > \Delta^{i-1}x(n_k) > 0, \quad n \in [n_k, n_{k+1}], n_k \geq n_l.$$

We complete the proof.  $\square$

**Lemma 2.** Let  $x(n)$  be a solution of Eq. (1) and, (H1) and (H2) hold, for some  $i \in \{1, 2, 3\}$ , there exists a constant  $N(N \geq n_0)$ , such that  $x(n) > 0$ ,  $\Delta^i x(n) \leq 0$ ,  $\Delta^i x(n) \neq 0$  in any interval  $[n, \infty)$ . Then  $\Delta^{i-1}x(n) > 0$  holds for sufficiently large  $n$ .

**Proof.** Without loss of generality, we assume  $N = n_0$ . We first prove that for any  $n_k \geq n_0$ ,  $\Delta^{i-1} x(n_k) > 0$  holds. Otherwise, we can choose  $n_j > n_0$ , such that  $\Delta^{i-1} x(n_j) \leq 0$ . From  $\Delta^i x(n) \leq 0$ , we get that  $\Delta^{i-1} x(n)$  is nonincreasing in any  $[n_k, n_{k+1})$ . By the condition, there exists  $n_l \geq n_j$  such that  $\Delta^i x(n) \neq 0$ ,  $n_l \leq n < n_l + 1$ . We assume  $l = j$ . Hence

$$\Delta^{i-1} x(n_{j+1}) = d_{j+1} \Delta^{i-1} x(n_{j+1} - 1) < d_{j+1} \Delta^{i-1} x(n_j) \leq 0, \quad (3)$$

where

$$d_{j+1} = \begin{cases} c_{j+1}, & i = 3, \\ b_{j+1}, & i = 2 \\ a_{j+1}, & i = 1. \end{cases}$$

So

$$\Delta^{i-1} x(n) \leq \Delta^{i-1} x(n_{j+1}) < 0, \quad n \in [n_{j+1}, n_{j+2}).$$

By induction,  $\Delta^{i-1} x(n) < 0$  holds for  $n \in [n_{j+q}, n_{j+q+1})$ , where  $q \in N$ . Then  $\Delta^i x(n) \leq 0$ ,  $\Delta^{i-1} x(n) < 0$ ,  $n \in [n_{j+1}, \infty)$ . By Lemma 1, we get that  $\Delta^{i-2} x(n) < 0$  holds for sufficiently large  $n$ . Using Lemma 1 repeatedly, we get  $x(n) < 0$ , this contradicts  $x(n) > 0$ . So  $\Delta^{i-1} x(n_k) > 0$  holds for any  $n_k$ . Since  $d_{j+1} > 0$ ,  $\Delta^{i-1} x(n)$  is nonincreasing in  $[n_k, n_{k+1})$ , we have that  $\Delta^{i-1} x(n) > 0$  holds eventually. The proof is complete.  $\square$

From Lemmas 1 and 2, we obtain the following lemma.

**Lemma 3.** Let  $x(n) \geq 0$  be a solution of Eq. (1), (H1) and (H2) hold, then for sufficiently large  $n$  either (i) or (ii) holds, where (i)  $\Delta^2 x(n) > 0$ ,  $\Delta x(n) > 0$ ; (ii)  $\Delta^2 x(n) > 0$ ,  $\Delta x(n) < 0$ .

**Lemma 4.** Assume that  $x(n) \geq 0$  ( $\leq 0$ ) for  $n \geq N \geq n_0$ . Moreover, assume that  $x(n)$  is monotonically nonincreasing (monotonically nondecreasing) in  $[n_k, n_{k+1})$  ( $n_k \geq n^*$ ) for sufficiently large  $n^*$ ,  $\sum_{k=1}^{\infty} [x(n_k) - x(n_k - 1)]$  converges. Then there exists a finite limit

$$\lim_{n \rightarrow \infty} x(n) = \alpha \geq 0 (\leq 0).$$

**Proof.** Let  $g_l = \sum_{k=1}^l [x(n_k) - x(n_k - 1)]$ ,  $\lim_{l \rightarrow \infty} g_l = c$ . Define a function

$$y(n) = -g_k + x(n), \quad n \in [n_k, n_{k+1}), k \in N. \quad (4)$$

Next we will prove that  $y(n)$  is nonincreasing and bounded on  $[n_0, \infty)$ . From the definition of  $y(n)$ , we get

$$\begin{aligned} y(n_{k+1} - 1) &= -g_k + x(n_{k+1} - 1) = -g_k - [x(n_{k+1}) - x(n_{k+1} - 1)] + x(n_{k+1}) \\ &= -g_{k+1} + x(n_{k+1}) = y(n_{k+1}). \end{aligned}$$

For any  $n_0 < a < b < \infty$ , if there is  $k$  such that  $a, b \in [n_k, n_{k+1})$ , then

$$y(a) = -g_k + x(a) \geq -g_k + x(b) = y(b).$$

If there exist  $m, k \in N$  such that  $0 < m < k$  and  $a \in [n_m, n_{m+1})$ ,  $b \in [n_k, n_{k+1})$ , from the nonincreasing of  $x(n)$  on  $[n_k, n_{k+1})$ ,  $y(n_{k+1} - 1) = y(n_{k+1})$ , we obtain

$$\begin{aligned} y(a) &= -g_m + x(a) \geq -g_m + x(n_{m+1} - 1) = y(n_{m+1} - 1) \\ &\geq y(n_k) = -g_k + x(n_k) \geq -g_k + x(b) = y(b). \end{aligned}$$

So  $y(n)$  is nonincreasing on  $[n_0, \infty)$ , and  $y(n)$  has a lower bound. Therefore,  $\lim_{n \rightarrow \infty} y(n) = A$ ,  $\lim_{n \rightarrow \infty} x(n) = A + c \geq 0$ .  $\square$

**Theorem 1.** Assume that (H1) and (H2) hold,  $\sum_{k=1}^{\infty} |a_k - 1|$  converges,  $\sum_{k=1}^{\infty} n^{(2)} p(n) = \infty$ , then every bounded solution of Eq. (1) either oscillates or tends asymptotically to zero with fixed sign.

**Proof.** Let  $x(n) > 0$  be a bounded solution of Eq. (1). By Lemma 3, either (i)  $\Delta^2 x(n) > 0$ ,  $\Delta x(n) > 0$ ; or (ii)  $\Delta^2 x(n) > 0$ ,  $\Delta x(n) < 0$  holds for  $n \geq N_0$ .

We first prove that (i) does not hold. Otherwise,  $\Delta x(n_k) = \gamma > 0$  holds for some  $n_k \geq N_0$ . From  $\Delta^2 x(n) > 0$ , we know that  $\Delta x(n)$  is monotonically increasing for  $n \in [n_{k+i-1}, n_{k+i})$  ( $i \in N$ ). For  $n \in [n_k, n_{k+1})$ ,

$$\Delta x(n) > \Delta x(n_k) = \gamma > 0,$$

in particular,

$$\Delta x(n_{k+1} - 1) > \gamma > 0.$$

For  $n \in [n_{k+1}, n_{k+2})$ ,

$$\Delta x(n) > \Delta x(n_{k+1}) = b_{k+1} \Delta x(n_{k+1} - 1) > b_{k+1} \gamma > 0.$$

In particular,  $\Delta x(n_{k+2} - 1) > b_{k+1} \gamma > 0$ .

By induction for  $n \in [n_{k+m}, n_{k+m+1})$  ( $m \geq 2$ ), we get

$$\Delta x(n) > b_{k+m} b_{k+m-1} b_{k+m-2} \cdots b_{k+1} \gamma > 0,$$

so

$$\Delta x(n_{k+m+1}) > b_{k+m+1} b_{k+m} \cdots b_{k+1} \gamma > 0.$$

Summing the inequality  $\Delta x(n) > \gamma$  from  $n_k$  to  $n_{k+1} - 1$ ,

$$x(n_{k+1}) \geq x(n_k) + \gamma(n_{k+1} - n_k).$$

Summing the inequality  $\Delta x(n) > b_{k+1} \gamma$  from  $n_{k+1}$  to  $n_{k+2} - 1$ ,

$$\begin{aligned} x(n_{k+2}) &\geq x(n_{k+1}) + b_{k+1} \gamma(n_{k+2} - n_{k+1}) \\ &\geq x(n_k) + \gamma(n_{k+1} - n_k) + b_{k+1} \gamma(n_{k+2} - n_{k+1}). \end{aligned}$$

By induction, for any  $m \geq 2$ ,

$$x(n_{k+m}) \geq x(n_k) + \gamma(n_{k+1} - n_k) + b_{k+1} \gamma(n_{k+2} - n_{k+1}) + \cdots + b_{k+m-1} b_{k+m-2} \cdots b_{k+1} \gamma(n_{k+m} - n_{k+m-1}).$$

Considering the condition (H1), we know that the inequality above leads to a contradiction. Therefore,  $\Delta x(n) < 0$ , that is case (ii) holds.

Now we consider case (ii).

$\Delta x(n) < 0$  shows that  $x(n)$  is strictly monotonically decreasing. From the facts that  $\sum_{k=1}^{\infty} |a_k - 1|$  converges and  $x(n)$  is bounded, we get that  $\sum_{k=1}^{\infty} |a_k - 1| x(n_k - 1)$  converges. Consequently,

$$\sum_{k=1}^{\infty} |a_k - 1| x(n_k - 1) = \sum_{k=1}^{\infty} |x(n_k) - x(n_k - 1)|$$

converges. So  $\sum_{k=1}^{\infty} [x(n_k) - x(n_k - 1)]$  converges. From Lemma 4,  $\lim_{n \rightarrow \infty} x(n) = \alpha$ , where  $0 \leq \alpha < \infty$ . We shall prove  $\alpha = 0$ . Otherwise,  $\alpha > 0$ , then there exists  $n_1 \geq n_0$  such that  $x(n - \tau) > \frac{\alpha}{2}$  for  $n \geq n_1$ . From (1),

$$\Delta^3 x(n) = -p(n)x(n - \tau) < -\frac{\alpha}{2} p(n).$$

The above inequality times  $n^{(2)}$  is

$$n^{(2)} \Delta^3 x(n) < -\frac{\alpha}{2} n^{(2)} p(n).$$

Summing the above inequality from  $n_s$  to  $n_{s+m} - 1$ ,

$$\sum_{n_s}^{n_{s+m}-1} n^{(2)} \Delta^3 x(n) < -\frac{\alpha}{2} \sum_{n_s}^{n_{s+m}-1} n^{(2)} p(n). \tag{5}$$

That is

$$\begin{aligned} -\frac{\alpha}{2} \sum_{n_s}^{n_{s+m}-1} n^{(2)} p(n) &> \sum_{n_s}^{n_{s+1}-1} n^{(2)} \Delta^3 x(n) + \sum_{n_{s+1}}^{n_{s+2}-1} n^{(2)} \Delta^3 x(n) + \cdots + \sum_{n_{s+m-1}}^{n_{s+m}-1} n^{(2)} \Delta^3 x(n) \\ &= n_{s+m}^{(2)} \Delta^2 x(n_{s+m}) - 2n_{s+m} \Delta x(n_{s+m} + 1) + 2x(n_{s+m} + 2) \\ &\quad - n_s^{(2)} \Delta^2 x(n_s) + 2n_s \Delta x(n_s + 1) - 2x(n_s + 2). \end{aligned}$$

According to  $\Delta x(n) < 0$ ,  $\Delta^2 x(n) > 0$ , we get

$$-\frac{\alpha}{2} \sum_{n_s}^{n_{s+m}-1} n^{(2)} p(n) \geq 2x(n_{s+m} + 2) - n_s^{(2)} \Delta^2 x(n_s) + 2n_s \Delta x(n_s + 1) - 2x(n_s + 2).$$

Let  $m \rightarrow \infty$ . Since  $\sum_{n=1}^{\infty} n^{(2)} p(n) = \infty$ , this contradicts the fact that  $x(n)$  is bounded. So  $\alpha = 0$ . The proof is complete.  $\square$

**Theorem 2.** Assume that (H1) and (H2) hold,  $\sum_{n=1}^{\infty} |a_n - 1|$  converges,  $\sum_{n=1}^{\infty} p(n) = \infty$ ,  $\frac{c_k}{a_{k-1}} \leq 1$ ,  $n_k - n_{k-1} \geq \tau + 1$ , then every solution of Eq. (1) either oscillates or tends asymptotically to zero with fixed sign.

**Proof.** We suppose that  $x(n) > 0$  is a solution of Eq. (1). From Lemma 3, for  $n \geq N_0$ , either

(i)  $\Delta^2 x(n) > 0$ ,  $\Delta x(n) > 0$ , or (ii)  $\Delta^2 x(n) > 0$ ,  $\Delta x(n) < 0$  holds.

We first prove that case (i) does not hold. Otherwise, there exists  $n_{k-2} > n_0$ , such that  $\Delta x(n) > 0$  for  $n \in [n_{k-2}, \infty)$ . Let  $u(n) = \frac{\Delta^2 x(n)}{x(n-\tau-1)}$ , then  $u(n) > 0$ .

$$\Delta u(n) < \frac{\Delta^3 x(n)}{x(n-\tau)} = -p(n) \leq 0,$$

$$\begin{aligned} u(n_k) &= \frac{\Delta^2 x(n_k)}{x(n_k-\tau-1)} = \frac{c_k \Delta^2 x(n_k-1)}{x(n_k-\tau-1)} < \frac{c_k \Delta^2 x(n_{k-1})}{x(n_{k-1})} \\ &= \frac{c_k \Delta^2 x(n_{k-1})}{a_{k-1} x(n_{k-1}-1)} < \frac{c_k \Delta^2 x(n_{k-1})}{a_{k-1} x(n_{k-1}-\tau-1)} = \frac{c_k}{a_{k-1}} u(n_{k-1}). \end{aligned}$$

Hence  $u(n)$  is nonincreasing and nonnegative in  $[n_{k+i-1}, n_{k+i})$  ( $i \in \mathbb{N}$ ).

Summing  $\Delta u(n) \leq -p(n)$  from  $n_k$  to  $n_{k+1}-1$ , we get

$$u(n_{k+1}) \leq u(n_k) - \sum_{n_k}^{n_{k+1}-1} p(n).$$

Similarly to this, we have

$$\begin{aligned} u(n_{k+2}) &\leq u(n_{k+1}) - \sum_{n_{k+1}}^{n_{k+2}-1} p(n) \\ &\leq u(n_k) - \sum_{n_k}^{n_{k+1}-1} p(n) - \sum_{n_{k+1}}^{n_{k+2}-1} p(n) \leq u(n_k) - \sum_{n_k}^{n_{k+2}-1} p(n). \end{aligned}$$

By induction, we know

$$u(n_{k+m}) \leq u(n_k) - \sum_{n_k}^{n_{k+m}-1} p(n).$$

Let  $m \rightarrow \infty$ , we get a contradiction. So only case (ii) holds.

Now we consider case (ii). From  $\Delta x(n) < 0$ , we get that  $x(n)$  is strictly decreasing in  $[n_{k+i-1}, n_{k+i})$  ( $i \in \mathbb{N}$ ).

$$\begin{aligned} x(n_{k+1}) &= a_{k+1} x(n_{k+1}-1) < a_{k+1} x(n_k), \\ x(n_{k+2}) &= a_{k+2} x(n_{k+2}-1) < a_{k+2} a_{k+1} x(n_k), \\ &\vdots \\ x(n_{k+i}) &= a_{k+i} x(n_{k+i}-1) < a_{k+i} a_{k+i-1} \cdots a_{k+1} x(n_k), \\ &\vdots \end{aligned}$$

Since  $\sum_{n=1}^{\infty} |a_n - 1| < \infty$  implies  $\prod_{n=1}^{\infty} a_n < \infty$ ,  $\Delta x(n) < 0$ , we get that  $x(n)$  is bounded on  $[n_0, \infty)$ . So  $\sum_{i=1}^{\infty} |a_i - 1| x(n_i - 1)$  converges, further we get that  $\sum_{i=1}^{\infty} [x(n_i) - x(n_i - 1)]$  converges. By Lemma 4, we know  $\lim_{n \rightarrow \infty} x(n) = \alpha$ ,  $0 \leq \alpha < \infty$ . We shall prove  $\alpha = 0$ . Otherwise,  $\alpha > 0$ , then there exists  $N_1 \geq N_0$  such that  $x(n) \geq \frac{\alpha}{2}$  for  $n \geq N_1$ . From Eq. (1),

$$\Delta^3 x(n) = -p(n)x(n-\tau) \leq -\frac{\alpha}{2} p(n), \quad n \geq N_1.$$

Summing the above inequality from  $n_s$  to  $n_{s+m}-1$ ,

$$-\frac{\alpha}{2} \sum_{n_s}^{n_{s+m}-1} p(n) \geq \sum_{n_s}^{n_{s+m}-1} \Delta^3 x(n) = \Delta^2 x(n_{s+m}) - \Delta^2 x(n_s).$$

Let  $m \rightarrow \infty$ , we get a contradiction. So  $\alpha = 0$ . The proof is complete.  $\square$

**Theorem 3.** Assume that (H1) and (H2) hold,

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\tau}^{n-1} (s-n)^{(2)} p(s) > 2, \tag{6}$$

or

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\tau}^{n-1} (s-n+\tau)^{(2)} p(s) > 2, \tag{7}$$

$\sum_{k=1}^{\infty} |a_k - 1| < \infty$ , then every bounded solution of Eq. (1) oscillates.

**Proof.** Let  $x(n)$  be a positive bounded solution of Eq. (1). From the proof of Theorem 1, we get  $\Delta^3 x(n) < 0$ ,  $\Delta^2 x(n) > 0$ ,  $\Delta x(n) < 0$ .

Consider the case that (6) holds. Using the discrete Taylor formula, we have that for  $k, n$  large and  $k \leq n$

$$x(k) > \frac{(k-n)^{(2)}}{2} \Delta^2 x(n).$$

Hence

$$x(k-\tau) > \frac{(k-n)^{(2)}}{2} \Delta^2 x(n-\tau).$$

Substituting this into Eq. (1) we have

$$\Delta^3 x(k) + p(k) \frac{(k-n)^{(2)}}{2} \Delta^2 x(n-\tau) < 0. \tag{8}$$

Summing (8) in  $k$  from  $n-\tau$  to  $n-1$  we have

$$\Delta^2 x(n) - \Delta^2 x(n-\tau) + \frac{\Delta^2 x(n-\tau)}{2} \sum_{k=n-\tau}^{n-1} p(k)(k-n)^{(2)} < 0.$$

We have

$$\limsup_{n \rightarrow \infty} \sum_{s=n-\tau}^{n-1} (s-n)^{(2)} p(s) < 2,$$

which contradicts (6). The proof corresponding to (7) is similar, so we omit it here.  $\square$

### 3. Examples

#### Example 1.

$$\begin{cases} \Delta^3 x(n) + \frac{1}{n^{(3)}} x(n-1) = 0, & n \geq 1, n \neq 2^m, m = 1, 2, \dots, \\ x(2^m) = \left(1 + \frac{1}{2^m}\right) x(2^m - 1), \\ \Delta x(2^m) = \left(1 + \frac{1}{3^m}\right) \Delta x(2^m - 1), \\ \Delta^2 x(2^m) = \left(1 + \frac{1}{5^m}\right) \Delta^2 x(2^m - 1). \end{cases} \tag{9}$$

(H1) and (H2) are satisfied, and  $\sum_{n=1}^{\infty} |a_n - 1| = \sum_{n=1}^{\infty} \frac{1}{2^n}$  converges,  $\sum_{n=1}^{\infty} n^{(2)} p(n) = \sum_{n=1}^{\infty} n^{(2)} \frac{1}{n^{(3)}} = \infty$ . So every bounded solution of Eq. (9) either oscillates or tends asymptotically to zero with fixed sign.

**Remark.** In [9], Li studied the oscillation of higher-order neutral difference equation. The result obtained here includes and improves the sufficient condition of Theorem 1 in [9].

#### Example 2.

$$\begin{cases} \Delta^3 x(n) + \frac{1}{n} x(n-1) = 0, & n \geq 7, n \neq 3m, m \geq 3, \\ x(3m) = \left(1 - \frac{1}{m^2}\right) x(3m - 1), \\ \Delta x(3m) = \left(1 - \frac{1}{m}\right) \Delta x(3m - 1), \\ \Delta^2 x(3m) = \left(1 - \frac{1}{m}\right) \Delta^2 x(3m - 1). \end{cases} \tag{10}$$

(H1) and (H2) are satisfied, and  $\sum_{n=1}^{\infty} |a_n - 1| = \sum_{n=1}^{\infty} \frac{1}{n^2}$  converges,  $\sum_{n=1}^{\infty} p(n) = \sum_{n=1}^{\infty} \frac{1}{n} = \infty$ ,  $n_k - n_{k-1} = 3 > 1 + 1 = 2$ ,

$$\frac{c_k}{a_{k-1}} = \frac{1 - \frac{1}{k}}{1 - \frac{1}{(k-1)^2}} \leq 1.$$

So every solution of Eq. (10) either oscillates or tends asymptotically to zero with fixed sign.

### Acknowledgements

The authors' research was supported by the Natural Science Foundation of Hebei Province (07M004) and Key Foundation of Hebei Normal University (1301808).

### References

- [1] Jurang Yan, Aimin Zhao, Oscillation and stability of linear impulsive delay differential equations, *J. Math. Anal. Appl.* 227 (1998) 187–194.
- [2] X. Tang, J. Shen, Oscillation of delay differential equations with variable coefficients, *J. Math. Anal. Appl.* 217 (1998) 32–42.
- [3] Xiu-Li Wu, Si-Yang Chen, Ji Hong, Oscillation of a class of second-order nonlinear ODE with impulses, *Appl. Math. Comput.* 138 (2003) 181–188.
- [4] Luo Jiaowan, Second-order quasilinear oscillation with impulses, *J. Comput. Math. Appl.* 46 (2003) 279–291.
- [5] Peng Mingshu, Oscillation theorems of second order nonlinear neutral delay difference equations with impulses, *Comput. Math. Appl.* 44 (2002) 741–748.
- [6] G. Wei, Oscillation of delay difference equations with impulses, *Journal of Mathematical Study.*, 33 (1) 61–64 (in Chinese).
- [7] Mingshu Peng, Oscillation criteria for second-order impulsive delay difference equations, *Appl. Math. Comput.* 146 (1) (2003) 227–235.
- [8] Haihua Liang, Weizhen Feng, Oscillation of higher order linear functional differential equation with impulses, *Electron. J. Differential Equations* 2005 (2005) 1–14.
- [9] Wantong Li, Oscillation of higher order neutral nonlinear difference equation, *Appl. Math. Lett.* 11 (4) (1998) 1–8.
- [10] Anhua wan, Weihua Mao, Oscillation and asymptotic stability behavior of a third order linear impulsive equation, *J. Appl. Math. Comput.* 18 (2005) 405–417.
- [11] L.P. Gimenes, M. Federson, P. Tboas, Impulsive stability for systems of second order retarded differential equations, *Nonlinear Anal.* 67 (2007) 545–553.
- [12] Ruixi Liang, Jianhua Shen, Periodic boundary value problem for the first order impulsive functional differential equations, *J. Comput. Appl. Math.* 202 (2007) 498–510.
- [13] L.P. Gimenes, M. Federson, Existence and impulsive stability for second order retarded differential equations, *Appl. Math. Comput.* 177 (2006) 44–62.
- [14] Tadeusz Jankowski, First-order impulsive ordinary differential equations with advanced arguments, *J. Math. Anal. Appl.* 331 (2007) 1–12.
- [15] Zhiguo Luo, Jianhua Shen, Oscillation of second order linear differential equations with impulses, *Appl. Math. Lett.* 20 (2007) 75–81.